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def get_action feat(start date, end date)
dump_path './cach ction_ac ulate_%s_%s.pkl’ (start_date, end_date)
if os.path. ex15ts(dump path)
actions = pickle.load( (dump_path))

actions = get_. actlons(start date, end date)

actions = actions[['user_id", id', "type']]
df = pd.get_ dummles(actlons[ prefle -%s-action' % (start_date, end_date))
actions = pd.concat([actions, axis=1)
actions = actions.groupby(['user_id', 'sku_id'], as_index= )-sum()
del actions['type']
pickle.dump(actions, (dump_path, ‘w'))
return actions
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start_days = datetime. strptlme(traln end_date, '%Y-%m-%d') - timedelta(days=i)
start_days = start_days.strftime('%Y-%m-%d")
if actions is

actions = get_actlon_feat(start_days, train_end_date)

actions = pd.merge(actions, get_action_feat(start_days, train_end_date), how="left’,
on=["user_id"', ‘'sku_id'])
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user_index, training_data, label = make_train_set(train_start_date, train_end_date, test_start_date, test_end_date)
X_train, X_test, y_train, y_test = train_test_split(training_data.values, label.values, test_size= , random_state=0)
dtrain xgb DMatrlx(X train, Llabel=y_train)
dtest=xgb.DMatrix(X test Label =y test)
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plst = param.items()
plst += [('eval_metric'

evallist = [(dtest, ' in, 'train')]
bst=xgb.train(plst, d num_round, evallist)

sub_user_index, sub_trainning_data make_test_set(sub_start_date, sub_end_date,)
sub_trainning_data = xgb.DMatrix(sub_trainning_data.values)

y = bst.predict(sub_trainning_data)

sub_user_index[ 'label’'] =y

pred = sub_user dex[sub_user_ index['l;iel‘] = ]

pred = pred[['user

pred = ). leSt() reset_index()

pred[ 'us d id'].astype(int)

pred.to_csv('./sub/su sv', index= , index_label=
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